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A : Jane, is this your notebook?

B : No, it' s not mine, It' s Mina's
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@ This is my mom,

@ It s mine.

@ Where is that?

@ Yes, this is mine,
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: Jack, do you want a fork?
: No, thanks. I can use chopsticks.
: Do you want a knife?
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. Yes, please.
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A July, what are you doing?

B : I m washing my hands,
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A : Where' s the living room?
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B : Sure. He likes to go skating.

T HBHE B3 o] ¥ ARo] & 9L 1
GLEEEREY

. Hello, this is Ann. Is Jim there?
: Speaking,.
" Hi, Jim. Let s play badminton.,

o > T >

- Sounds good.
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A @ Let s play basketball.
B: Sorry, I can’t.

I must do my homework.
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A * What did you do yesterday?
B: @I played the piano.
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A Whose bike is this?
B: @ Yes, it is.
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A Theg 1 O399 fdEhe A& A=A L

@ cake @ fork @ spoon
@ knife (& chopsticks

@ Yes, I can.

@ Help yourself.
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A < Is that your father? He looks very nice.
B : Yes, he' s my dad. He likes to go fishing.
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A : Jiho, can you tell me about your sister?
B : Yes. My sister is pretty and kind.
She likes to listen to music.
A How about you?
B : I like to listen to music, too.
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A : Can we meet at the bus stop at five?
B : OK, See you there.
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O Who is Mina?

@ How about Mina?

®) Is this Mina' s house?

@ May I speak to Mina?

® Is Mina washing her face?
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B : Why not?
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A ! Let s play basketball.
Can you join us, Joon?

B : Sorry, I can't. I have a cold.
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